AR RERR S IR (2 1T D E R AR DHAEAR R RO | E KR [2014F R U2015F TR 1 B m D EFHER FRER) ]

01 2014% 7B 1 A& 01 2015% 781 A M = 5= (2015-2014)
—_REEE |REGAERERS SESME SHH B 5 H#A EEE wiEeE ([SESUE S48 BEE ] EHER KgZE = 2 [5] RN E
22087ER  [JARRREA EEMNAEREEEE L 2— 0 0 0 6 0 0 0 0 6 0 0 0 0 0 0
N 0 44 0 0 0 0 31 0 0 0 O|A 13 0 0 0
Y9G ITLT 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
H—St8— 0 15 0 0 0 0 15 0 0 0 0 0 0 0 0
IES59) =9y 0 14 0 0 0 0 12 0 0 0 o A2 0 0 0
IEBY )=y 0 0 0 14 0 0 0 0 12 0 0 0 o A2 0
MU ILERE 0 88 47 174 0 0 87 60 162 0 o A1 13| A 12 0
Eai7LT4—RIV=vY 0 14 0 0 0 0 14 0 0 0 0 0 0 0 0
EfREAME #is ELFERR 0 50 0 100 0 0 37 0 100 0 O|A 13 0 0 0
EfFEANTE FEIRERNE 0 19 0 0 0 0 19 0 0 0 0 0 0 0 0
EfREAME RiAs KBERARER 0 9 0 0 0 0 12 0 0 0 0 3 0 0 0
EFEANMETATASERER 0 0 0 0 0 0 0 0 0 6 0 0 0 0 6
EEREAMMBEOEDYRFTLTA—RI)=9Y 0 3 0 0 0 0 0 0 0 0 o A3 0 0 0
EfFEANE—ES @ELUFER 0 0 0 263 0 0 0 0 271 0 0 0 0 8 0
EREAEA—FEE F2lUAERAILT—VT 0 0 0 164 0 0 0 0 164 0 0 0 0 0 0
EfFE A EREIBSE ERHFLE 0 0 0 113 0 0 0 0 96 0 0 0 O|A 17 0
EfFEANTEECESER 0 19 0 0 0 0 19 0 0 0 0 0 0 0 0
EfFEANTEAREREER 0 16 0 0 0 0 14 0 0 0 0| A2 0 0 0
EfEE A=A hh EER 0 0 0 142 0 0 0 142 0 0 0 0| 142|A 142 0
EfE AT ERE S HER 0 105 0 0 0 0 60 0 0 18 0| A 45 0 0 18
EEEANTEFES HILHER 0 57 0 0 0 0 16 0 42 0 0| A 41 0| 42 0
EfFEANEFRS L=y 0 0 0 17 0 0 0 0 17 0 0 0 0 0 0
EFEANMEEZNBYSTIZYERNEY) =y 0 8 0 0 0 0 8 0 0 0 0 0 0 0 0
EEEAHAESSRIEBARER 0 0 0 1 0 0 0 0 0 0 0 0 o] A1 0
EEEAHIERSERD) =YY 0 19 0 0 0 0 15 0 0 0 0| A4 0 0 0
EfFE AN FERDSEL IS E KRR 0 0 0 192 0 0 0 0 192 0 0 0 0 0 0
EfFEAN L EERRRE ER 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
EEEAGEERTIV) VY 0 19 0 0 0 0 0 0 0 19 O|A 19 0 0 19
EfENEL SRR AR 0 89 0 88 0 0 73 0 88 0 O|A 16 0 0 0
EFEANERESE EREEEIRIR 0 0 0 230 0 0 0 0 230 0 0 0 0 0 0
S{E KR+ FiElE 0 0 0 99 0 0 0 0 99 0 0 0 0 0 0
EEI)=v 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
[EARRRF V) =v) 0 0 3 0 0 0 3 0 0 0 0 3| A3 0 0
N0k EE L ie AT ERT 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
AED) =y 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
S ELEAE 2SR ERT 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BOCAESY)=vY 0 14 0 0 0 0 0 0 0 0 O|A 14 0 0 0
EFIREH 0 0 2 0 0 0 0 0 0 2 0 o A2 0 2
o R 0 0 0 169 0 0 0 0 169 0 0 0 0 0 0
EREHIVI)=vY 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
RO LEEERZIEER 0 0 0 19 0 0 0 19 0 0 0 0 19/ A 19 0
I O ZE i AL EE R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= E Rl 0 0 0 35 0 0 0 0 0 0 0 0 0| A 35 0
WTR/HN—kI)= 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0




AR RERR S IR (2 1T D E R AR DHAEAR R RO | E KR [2014F R U2015F TR 1 B m D EFHER FRER) ]

01 2014% 7B 1 A& 01 2015% 781 A M = 5= (2015-2014)
ZREEBE | REFIEEERSA BESMLE Al [ 5 H#A [E1EST HwEE |SESME S [E175 A [=lE3] KeZE = a2 =] e
HEERARER 0 14 0 0 0 0 14 0 0 0 0 0 0 0 0
T 3L Fa R B 0 157 0 0 0 0 157 0 0 0 0 0 0 0 0
EEE =Y 0 0 19 0 0 0 0 19 0 0 0 0 0 0 0
HEBUENEFEBEUEERMERFHIRZ 2 0 11 0 0 0 0 0 0 0 0 O|A 11 0 0 0
H2EHLE AR REN B EFR S RIRESELR 744 0 0 0 0 458 286 0 0 0| A 286] 286 0 0 0
+ &Rkt 0 57 50 154 0 0 54 45 134 0 0| A 3] A5/ A 20 0
AT EE IR AR =R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BEYNEYT—a ER 0 0 80 0 0 0 0 80 0 0 0 0 0 0 0
FROA A H) 0 1 0 0 0 0 0 0 0 0 o A1 0 0 0
HiBEH 0 3 0 0 0 0 3 0 0 0 0 0 0 0 0
BHE—ERBARIY=YY 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
RIEH) =YY 0 5 0 0 0 0 0 0 0 0 0| A5 0 0 0
WERRER=HRRER 613 27 0 170 0 395 245 0 170 O|A 218] 218 0 0 0
2w AR T} = 0 4 0 0 0 0 0 0 0 0 0| A4 0 0 0
XET T MTRERE 0 0 0 220 0 0 0 0 220 0 0 0 0 0 0
REBESZEN 0 19 0 0 0 0 19 0 0 0 0 0 0 0 0
RKEEESE_EMN 0 0 0 18 0 0 0 0 18 0 0 0 0 0 0
YR ITEUE A E IR i iE K 3= iR e 0 26 0 232 0 0 26 0 225 0 0 0 o A7 0
MIITEBCE AT BEREEAEE RN SRR 6 306 0 0 0 6 304 0 0 0 0 A2 0 0 0
I\EBDFZI) =9 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
EMERKZEZEMER 576 0 0 0 0 576 0 0 0 0 0 0 0 0 0
ENMEERTL4— 42 558 0 0 0 253 347 0 0 O 211|A 211 0 0 0
EMHUNEYT— 3 5w 0 0 180 0 0 0 0 225 0 0 0 0] 45 0 0
R E R RERRE AR 0 36 0 20 0 0 32 0 20 0 0| A4 0 0 0
EMTR+F R 12 300 0 0 0 12 300 0 0 0 0 0 0 0 0
EMERIRRT 0 0 0 97 0 0 0 0 99 0 0 0 0 2 0
SR SRR 0 107 32 60 0 0 107 32 60 0 0 0 0 0 0
PR &R BE f5e 0 7 0 0 0 0 7 0 0 0 0 0 0 0 0
1Bk ERAF 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
AFER - 1R AR 0 17 0 0 0 0 17 0 0 0 0 0 0 0 0
BAARERE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
JAFE ) [E A 3= I SR B 340 0 60 0 0 236 104 60 0 0| A 104 104 0 0 0
FERE/NER B AR 0 0 0 0 0 0 5 0 0 0 0 5 0 0 0
HEERARER 0 0 0 0 0 0 0 0 0 4 0 0 0 0 4
220875 5B SE5T 2,333 2,257 473 2,797 0 1,936 2,462 682 2,594 49[ A 397 205 209[A 203[ 49




